
Puzzle  by John de Cuevas    solved 
 

T A R N I S A N T I D 
O T E U N C L E S C E 
N E P I E R M A T E R 
S A T R P M E R E S C 
U B B E R P R I M T A 
R T I R A ? G O L I B 
E R T E T E E S E P A 
R A T E D T R O W E L 
O C E L O T S H I L L 
S T R O P O B E S E R 
E C I P E T O R N A O 

The omitted letters (in parentheses in the list below) spell 
HARVARD SQUARE 

Across 
1. TARNIS(H) 
2. ANTIDOTE 
3. UNCLE 
4. SCENE 
5. PIER 
6. MATER 
7. SATR(A)P 
8. MERE 
9. SC(R)UBBER 
10. PRIM 
11. TART 
12. (V)IRAGO 
13. LIBER(A)TED 
14. TEE 
15. SEPARATED 
16. TROWEL 
17. OCELOT 
18. SH(R)ILL 
19. STROP 
20. OBESE 
21. RECIPE 
22. TORNA(D)O 

Down 
1. TONSURE 
2. ROSEATE 
3. AB(S)TRACT 
4. CREPT 
5. BITTER 
6. IN(Q)UIRE 
7. REEL 
8. OPINE 
9. PRAT 
10. DOPES 
11. CR(U)MPET 
12. TOTAL 
13. MERGERS 
14. BONE 
15. ARIOSO 
16. HE(A)RT 
17. STEM 
18. LEWIS 
19. NICE 
20. ST(R)IPE 
21. LEADER 
22. CABALL(E)RO 

 

 


